
g =


1 (eE · eB) (eE · ek) 0

(eE · eB) 1 (eB · ek) 0
(eE · ek) (eB · ek) 1 0

0 0 0 −1


X = xEeE + xBeB + xkek + tet

K = kek + ωet

K ·X = (eB · ek) kxB + (eE · ek) kxE − ωt+ kxk

F = (eB · ek)Bei((eB ·ek)kxB+(eE ·ek)kxE−ωt+kxk)eE ∧ eB −Bei((eB ·ek)kxB+(eE ·ek)kxE−ωt+kxk)eE ∧ ek + Eei((eB ·ek)kxB+(eE ·ek)kxE−ωt+kxk)eE ∧ et + (eE · eB)Bei((eB ·ek)kxB+(eE ·ek)kxE−ωt+kxk)eB ∧ ek

Substituting eE · eB = eE · ek = eB · ek = 0
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X = xEeE + xBeB + xkek + tet
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K ·X = (eB · ek) kxB + (eE · ek) kxE − ωt+ kxk
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